Master Maths 7 Worksheet 29
Patterns and Rules - Problem Solving

<9

1. A post and rail fence is to be built as shown 2. A ladder company has produced an extendable
below. ladder. It is made using pieces that can be

fitted together. The pieces are all the same

rail post length.

The diagram below shows different lengths

of the ladder. The number of rungs and pieces

«—gap —»

are listed.
There are three rails between each set of posts.
(a) Complete this table.
;\ITEESV:; Number of Number of
& ;)osts (G) posts (P) rails (R)
1 2 3
6
2 3 I rung 2 rungs 3 rungs
3 5 pieces 8 pieces 11 pieces
4
10 (a) Complete this table showing the number
of pieces needed for different numbers of
20 rungs.
(b) Find a rule connecting the number of r = number of rungs " P
posts, P, and the number of gaps, G. p = number of pieces 1 5
2 8
P=
3 11
4
(¢) Find a rule connecting the number of 5
rails, R, and the number of gaps, G.
6
R= ) )
(b) Find a rule connecting p and r.
(d) Find a rule connecting the number of p=
rails, R, and the number of posts, P.

(c) How many pieces would be needed for
a ladder that had 12 rungs?
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